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1. The partlal fraction decomposition form of — T _1) is

a) a + + -+t —
b)a+—+—+—a+bx+c+—

bx+c ¥ ax+§ ! c

O T Vo tia
La decomposmon en élements S|mple sz — . est
x?(x-1)
b) a + + -+ —
bx+c d

b)a+—+—2+—a+ +—

bx+cx )il = N ax+jlg_1 c
. C) > +-;:I d) o +-;:I

6
2. The coefficient of the term in x° in the binomial expansion of (Zx - xiz) IS
a) 240 b)480 c) 180 d) 20

6
Les coefficients des termes en x° du développement de (Zx 3 xiz) est
b) 240 b) 480 c) 180 d) 20

3. The smallest positive value of x which satisfy the equation cos (x + 1—”2) = % is

a) = b)= Ok d) =
La plus petite valeur de x qui satisfait I’équation cos (x + %) = % est :
b) = b) = OF d) =

4. The complex number Z = -1 +i satisfies%zl_i = a+i. The value of a is:
a)-1 b) 1 c)0 d)2
le nombre complex Z = —1 + i satisfait %21_1 = a +i. Lavaleur de a est.
a)-1 b) 1 c)0 d)2

5. The coordinates of the turning point on the curve with parametric equations x = t3,y = (1 + t)? are:
La coordonnée du point minimum de la courbe ayant pour équation paramétrique x = t3,y = (1 + t)?

sont:

a) 01) b)(-10) ¢ (1.4) d)(-14)
6. f1+x2 dx =

a) (1+ 2)2 +C D)= +x2)+C

.C) 5arctanx + C  d) 5x — ; +C
7. 1 f(x) = ex , then f'(x) =
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1 1 1,
)% b-er 9 Z
Sif(x) = ej'c alors f'(x) =
1 1 1,
) 2 - 92 dZ

8. The center of the circle:
2X2+2y2—2x+y—%=0 is:
a) (1/2,Y) b)(2,-1) C)(-1/2,-1/4) d) (1/2,- ¥a)

Le centre du cercle 2x? + 2y? — 2x + y — % =0 est:
a) (1/2,Ys) b) (2,-1) C) (-1/2,-1/4) d) (1/2,- ¥a)

9. Given the differential equation Cosx% = ysinx, then:
a) y=In(secx)+k b)Iny=In(secx)+k

C)y =secx +k d) Iny = secx + k
Sachant que I’équation différentielle

dy . .
cosx —= = ysinx, Alors :
b) y =In(secx)+k b)Iny =In(secx) +k
C)y =secx+k d) Iny = secx + k

10. The range of values of p for which the expression x? +4px + p is:

a)p<00rp>i b)p<0andp>i
0 0<p<= d)o<psg
L’intervalle des valeurs de p pour lesquélles x? + 4px + p est:
b)p<00rp>i b)p<0andp>i
Q) 0<p<= d)0<p<-
1 x+1
[ sode = ...
a) —In3 p) 23

2
,C) Does not exist  d) None of the above

f01 2 dx=.. ...

x%24+2x-3
a) —InV3 b) _”2“/5
b) N’est existe pas d) aucun
12. Let A = 3nr? — 4nr. The rate of change of A with respect to r when r =4 is
a) 20w b) 32m C) 24n d) o 8m
Soit A = 3nr? — 4mr. la fréquence de variation de A en fonction de r lorsque r = 4 est
a) 20w b) 32m C) 24n d) o 8w
13. If eV3¥sinx = ReV3* sin(x + a), then
Q) R=1,a=0 b)R=+v3,a=0
OR=1la=7 dR=1a="

14. Si eV3*sinx = ReV3* sin(x + a), alors
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b) R=1,a=0 b)R=+v3,a=0
OR=1a=7 dR=1a=-

15. If flzf(x — ¢)dx = 5, where c is a constant, then flz__ccf(x)dx = i
a 5—c b) 5 c)5+c dc—-5
Sifl2 f(x — c)dx = 5, avec ¢ constant, alors flz__ccf(x)dx = e,
a)5—c b) 5 c)5+c¢ d)c—-5

16. Given that y = x3e*’, then Z—i =

a) 3xZe* b) 3x% + 3x%)e*’
©) (3x2 + x3)e*’ d) 3x2e*”
Sachant quey = x3e*°, alors Z—z =
a)5—c b) 5 c)5+c dc—-5
17. The equation of a line through the origin and perpendicularto 3x — 2y +4 =0 is:
Q) 2x+3y=0 b)3x -2y =0
C)9x—6y—26=0 d)3x+2y=0
18. L’equation de la droite passant par 1’origine et perpendiculaire.a 3x — 2y + 4 = 0 est :
b) 2x+3y =0 b)3x -2y =0
C)9x —6y—26=0 d)3x+2y=0
19. Given that (a‘i—'z)' = 2, where a is positive, then thevalue of a is:
a) 2 b) 1 c)4 d)5
Sachant que (a‘_l—'z)l = 2, avec a positif, alorsla valeur de a est :
a) 2 b) 1 c)4 d)5
20. The range of the function f:x — 11;3x,x #01is
Q) xER, x+3 b)x e R, x # -3
OxER, x+#: dxER, x#=—
L’intervalle de la fonction  f:x — 1;3x,x #=0is
b) xeR, x+#3 b)x e R, x # -3
C) x ER, x¢§ d) x € R, xi_?l

21. The value(s) of m for which y = mx — 3 is tangentto y = x2 + 1 are:
a) 1 b) £2 c)2



